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And Rav Bibi concluded it, etc. - 9972 772 2%%0% J2%2 2

Overview

13 21 related from the name of X177 21 that even if the 1912 brought proof that he
bought the field (a 7vw), nevertheless the proof is insufficient and he does not get
to retain the field. The X713 stated that 22 17 concluded in the name of 1" that
(even though) the 1913 does not receive the field, but he receives back the money!
which he paid for the field.?

- 9P 199K M9 %253 29 N1 3N HYp N8P
The language is somewhat difficult to accept, for 2'"9 argues with 7" as the
X713 states later -

1M N NN NON 5512 2991 XD XD 29)
Since 71'"9 is not discussing this case but rather only a case where the owner

admitted to receiving money, but not a case where the money was counted in the
presence of 0*7y; in that case it is a valid sale

Summary
Seemingly °2°2 17 and 7" disagree; so how can we say 72 0>0n 2"1?!

Thinking it over
Why does n190n write 7wp N¥p; it seems to be a very strong Xwp?!

! The fact that he receives his money back, indicates that witnesses saw the 1713 pay the owner; otherwise he would
not receive the money back, for how are we sure that he paid the owner.

2 This seemingly indicates that >2°2 27 heard from 1" this ruling in the name of 7"".

3 The X3 states 1"77 MAw» 72 007 *2°2 17Y; indicating that he added something to what 1" taught from X177 2.
This indicates that 7" ascribes to this statement of Y2 @> myn Dar 1 1"} ypp.

4 x,mn. The Xma clearly states there that 7°% X7°20 X2 X137 277 X127 %37 X' 202127,

5 See footnote # 1. °2°1 11 is discussing a case where the money was counted 27y °191 therefore he gets it back;
however 1" is only discussing a case where the owner (only) admitted to receiving payment that is when we say X
X707k (but he does not get any money back), however in a case where 2°7v *192 71n, the rule is that the 1713 is
AP, since 21721 AT AN TN
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